1
nHr=ri “
K Q <
5 R - ilb @ 0
. L X DN eNA K 10 N3
eND | g % e eNA = S712211 £7/22 239.00 1D o ;
TS = i1 236.99 5 g\
an 2 i S N 0, ; eND O < 218
%D 240.63 \\\\\ \ ODEN%L L y —— eNA 2. : @ g 8\
Q \\\\ ? —
] K @% EILA <= == ch»kpv 4071 B \\\\\ 220.39 5 \
. | c B g 239.1 wD-
to—| 5 577188 S 7N [ 23973 / X 3L & .
9} © hags
240.42 5 / < A . |
Kk bt N eND ©| 4
240.65 o 240.35 12404 2 .o | ke
—— -~ 237.53 REEES — 9.13 k
= 24053 5 k ksD30g K 524036 - 240.08 22339_61
= - kdD 237.24 239.5¢
A 236.2¢
(T) | = T ¢ \ D K ksD30g imh k kdD \ " \
- | fﬂ?’( N . ST s g k ksD300 . EH| k ksD20
- 241.0650 prsitw \A —= L2150 240, - 239.2 w 237.2
> Iy, p - 3 w 235.9
) ’ .240.88 = WD150 .
(. 201 301// 2 = T—[T8R | 57,
R hhhﬂ EE LT 2
515 S SR s G| KR \
o F 20 g e - ~
ap Tl ,] , l242 02 242,01 ’ J I ohaas
D) e 9.10
) 24189 240 o7 | | o) ~ 23921 |
1’ i l NG o} \
. N
| ’ ’ l odwiert | N |24
‘ 3| ' NP [ I 0 hix
N 4 10 )
EaE e ~ A 2
S AT 18 TN | 8 %
IS ¥ I ~,240 S‘E 4 ’ 1" )
(Y240 N
| Pzt L 0047 e N St K
| ‘0\7[/_’—____ I n Q 241.20 23857, N
| o | | = L= ;. 238.59 k \\e‘ N b
| (3;’ ’ bt o 2205 o) | 20
(S ! QQ@ | o 50 ) LAY 972 .96 - ] Zgg-sﬁ ks
') = 5] ’ B ~ - U |
O VT I N N JEEERR s \’% : C =
S %) L4270 o = S i S
242.75 N —p/) e | \ / 5 < N
koD15¢ AR 242.78 \ hkp N41.29
= &) | \ 242041 49 e < > > 238.67 | /K3 o
O = - S| 1 N BYIT a2 mm Y C
= - 8 | N I | k 20 238
— T SN IR | l /’ e 01\14 Ul 9 251
— - =5, Tk )
- g w100 U ” chkp. [0V 2 ’ 24*2%%3\2\ 24?;5/ "L\ ° 241.68 - 14118
—— ~ 2. S = 5]
- w ! 1 | ’ \ NV RS \)\0\ I “ O |8 o Yza0ad «
~ I 24280 | Fano N . ¥ S 4N/7 A | [fea
241 oL | | -2 1208 24L 2 [Q) © ; Bsém $
R A~ 0 1243.19 | g N\ <Q) a7 — < \PAT.48 ~ 7T 401 =
) - wJ I prokk 2L 24250 11 i N X 5 i o cis0 3
=/~ . 685241, . 5
N\ 5[ O TR = A HLE0 Pl pE s N S
—_—— S~ —rr——___ t 2@5_1 . [—— 0 N W g
B chk . N___*ﬂaﬁ____x__ vmg ©
- —— T 4357 ~ 243.70 L : 243.34 .242.06
s S 424’56523 = _ZEE—LJ_%&____ e L
: - . —ok3 - -
/87 57116 kdD400 M A 24173 e hyd
N Ut A N
244.01 prg fk— = | _[,]_,I J_H_TI _LUIJ'_TT 4130 T e ey
2440977 : 24396 43.901
/ c100 c125 || | c150
. c100 c125 T3 | 5
| . 24441 54408 21432 2 {;;Iu»g: o 224208 _ . c .50 o6
i 3 ) _T_ I — — —_
| Al LT T
e -242.98 / J i _l _L I
%, N\ K k \aas08 = VoW, — n\ny- 2446 30
\# N O ° ?37 S K koD20G)| | | g3 AT L1 =
D S 4D o oy, BT s 24495 . 20485 2 [k T\ 248.41 3.65 s B 242.12 B
N R a . e
N = SN T OO O ating | cwdo 13 | 139/16 ** 139/19
k- N chip, ‘24?0?\\_2“4 S— eN¢Bymo N 20291 -~ 40&
24512 44.95 24488 aT2 Sy pne T — — e ——_ = 42887 4331,
— T 59
8 \J%L\M&e\\\‘ N
£



